A AOVS R ouT  IN GROSS  HDCP NET

B B = ME 738742 | 80/ 10.0 70.0
EERK ™M A 39/38) 77 3.0 74.0
3 #BA 3737 74 0.0 74.0
A fREE KER 45 41 | 86/ 11.0 75.0
hii M R 37 36/ | 73] -2.0 75.0
6fiL /AR B2 43 44/ | 87 12.0 75.0
ML =" Ft 46 41 87 11.0 76.0
8L PN BB 45 41 86/ 10.0 76.0
9L B iz 43 44 87 11.0/ 76.0
1040 BpE IERs 4345, 88 12.0 76.0
114iL f FH— 45| 38 83 6.0 77.0
122 WF AR 46| 40 86 9.0 77.0
1361 ¥#F  Hi 4441 85 8.0 77.0
14 5 FM 4443 87 10.0 77.0
15 fHE AR 4146 87 10.0 77.0




R#HIFF BYS R ouT IN GROSS  HDCP NET

= H% Fih FA 44 47 91, 2/.0 64.0
ZiEl AH B2 20 42 | 82 16.0 66.0
3 INRH BT 47 51 98] 28.0 70.0
i /NE Fih 4945 94 220 72.0
b |RKH FOF 47 41 88 15.0/ 73.0
6 |* R 5% 52 52/ (104 30.0 74.0
L AR F 4248 | 90 15.0 75.0
8L AO 1EH2 2943 92 16.0/ 76.0
b Ml 48 48 | 96, 20.0/ 76.0
105 HE 1BIE 44 46 | 90/ 14.0' 76.0
1142 g BHE 44] 47 911 15.0 76.0
124 JIIA T|HE 46| 44 90 13.0, 77.0
13 /&I 28— 47 44 91 13.0/ 78.0
1460 & SN 47 53 100 22.0/ 78.0
13.0 79.0

155 AN =E 49 43 92




B#HIHF LF14—R ouUT IN GROSS  HDCP NET

2 by HE B+ 43 37 | 80 13.0 6/7.0
B ®RE HX 47 420 89 21.0 68.0
L [l #Am 47/ 43 90 22.0 68.0
My XIB EHY 3937 | 76 6.0 70.0
oI TR AR 1137 78 3.0 75.0
6 Bl béH 24 84 9.0 750
6L HH FxE 48 53 [101] 26.0 75.0
8 =i TRF 42| 49 91 16.0 75.0
O P #MHF 47 42 1 89 13.0; 76.0
1052 7% B+ 49 50 99 23.0 76.0
116 #n K [RI3E 41 46/ | 87] 10.0 77.0
1244 278 =& 41) 41 82/ 4.0 /8.0
136 #HA =HY 4445 | 89 11.0 78.0
1My HFT M 45 42 87 7.0 80.0
156 [ HH X3 F 55 56 111 23.0] 88.0




